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a) [image: image4.jpg]A rocket is modelled by a particle which moves along a vertical line. From
Iauneh, the rocket. rises until its motar cuts ot after 14 seconds. At this
time it has reached a height of 450 metres above the launch pad and
attained an upward veloeity of 70m s~ From this time on, the rocket has
constant upward acceleration —10m s~ (due to the effect of gravity
alone),

Chocse the s-axis (for the position of the particle that represents the
rocket) to point upwards, with origin at the launch pad. Take ¢ = 0 to be
the time when the rocket motor euts out.

(8) What is the masimum height (above the launch pad) reached by the
rocket?

(b) How long (from launch) does the rocket take to reach this maximum
height?

(€) After how long (from launch) does the rocket crash onto the launch
pad?
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b)
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c) 

Question C is the troublesome part i have an equation but im not sure how to apply it could someone please show me the full working out to the solution, thank you

